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S#18E L35 L35/ 50 Hz: 2.1 kW

ASENBES] L35 L35/ 60 Hz: 2.39 kW

SEIBES L35 L50 /50 Hz: 1.52 kW
ASEIBES L35 L50 /60 Hz: 1.76 kW

230V, H#H. 50 Hz/60 Hz

50 Hz D3%E: 5.8 A
60 Hz D35 5: 6.8 A



Features

EFER (X 50 Hz Di5E: 20 A
60 Hz D355: 22 A

REg (\EE7O0-) SERTEIRIZER: 980 m*/h
MEBBERAZEE: 980 m*/h

ITxR)LF—2=LtE (EER) 50/60 Hz  BE#R{R%EKX L35 L35 (EER) 50 Hz: 2.44

L35L35 BAEIREL L35 L35 (EER) 60 Hz: 2.21
TR 4 —)L B
A @: 400 mm

=:1,580 mm

B247: 295 mm

{REEZMR. EN 60 529 (CZEHL SNERTEER IP34
REREER IP 54

Protection category NEMA UL Type 12
AR SENE A R-513A
=:0.95 kg

HECRBELREL (GWP): 631
CO2 A% (CO2e): 0.6

R e-dY 74— k> bO—5— (THHRERE +35°C)
P RESE 10°C...55°C

REREHH -40°C...70°C

X E L 20°C...55°C

EH&H 17 Pel EMHEE S L35 L35/50 Hz: 0.86 kW

EMEEEH L35L35/60 Hz: 1.08 kW
EAREHEE S L35 L50/50 Hz: 1.02 kW
EARHEE S L35 L50/60 Hz: 1.23 kW

HFARRKEN (p mK) 28 N\—JL
BREa2—X ERrEsAkA e 2 —X: 16 A
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Features

E-Number Sweden
ETIM9
ETIM 8

ECLASS 8.0

Approvals

Approvals

Certificates

Explanations
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118

67.45

71

84158200
4028177323056
E3404556
EC000855
EC000855

27180704

30 - KC Korea

UL + C-UL (listed)
UL+C-UL-FTTA

UR + C-UR (recognized)

EAC
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